02 01 29

G )
39,879] | 39,805] 0| 74| 0 0.18
H28 H32
66.7% H28 69.5% H32
674 % 70%
51.9% H28 56.2% H32

52% % 56%

ha ha

67.2% H28 90.2% H32

674 % 90%

0.0% H28 93.3% Ha2
ot % 934

0.9% H28 88.2% H32
1 88

0000152789




H28

H32

29.1% H28

87.3% H32

29%

87%

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-001 15 n n n n n 4,092
A07-002 n n n n n 1,147
A07-003 n n n n n 2,000
A07-004 [ I B A B | 238
A07-005 L=400m [ I B A B | 130
A07-006 L=900m [ B BN BN B 84

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-007 L=2,200m [ N B R 100
A07-008 6,750m3/ [ I B A B | 151
A07-009 5.1tDs/ [ I B A B | 440
A07-010 L=800m [ I B A B | 313
A07-011 7,000m3/ [ I B A B | 4,210
A07-012 [ N B R 437

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-013 L=130m " == 115
A07-014 9,600m3/ [ I B A B | 150
A07-015 [ I B A B | 30
A07-016 L=5,620m u 5
A07-017 L=3,500m [ I B A B | 1,540
A07-018 4,100m3/ [ I B A B | 2,850

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-019 ] 6
A07-020 L=0m "= 0
A07-021 A=35ha "= 1,010
A07-022 A=43.7ha "= 478
A07-023 ] 100
A07-024 "= 60

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-025 A=28.1ha "= 461
A07-026 L=782m "= 181
A07-027 A=24ha "= 920
A07-028 A=21.0ha "= 528
A07-029 A=5.1ha "= 230
A07-030 A=30.5ha "= 625

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-031 u 0
A07-032 [ N B R 415
A07-033 [ I 15
A07-034 L=1,085m [ I 152
A07-035 A=2.0ha [ I 222
A07-036 u 285

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-037 9 [ ] 1

A07-038 L=180m [ ] 37

A07-039 A=42ha [ I | 1,354

A07-040 L=1470m [ B BN B B 1,299
A=70.0ha

A07-041 A=11.6ha [ B BN A B ] 12

A07-042 A=2.4ha [ B BN A B ] 17

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-043 A=27.6ha [ I B A B | 375
A07-044 A=8.8ha [ I 177
A07-045 200KVA ] 124
A07-046 [ N B R 205
A07-047 [ N B R 25
A07-048 L=290m u 25

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-049 L=1.0km [ I 90
A07-050 A=1lha [ I 10
A07-051 A=4.9ha [ I B A B | 18
A07-052 A=6.7ha [ I B B 20
A07-053 3.5m3/ [ I 100
A07-054 m | = |m 100

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-055 L=1,140m "= 294
A07-056 A=12.2ha "= 255
A07-057 A=9.5ha "= 176
A07-058 ] 35
A07-059 L=380m "= 111
A07-060 A=7.9ha "= 164

10

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-061 A=9.1ha [ B BN A B ] 580
A07-062 [ I | 20
A07-063 L=554m [ B BN B B 224
A=713ha
A07-064 L= [ I B 30
9.7
A07-065 A=20.0ha [ T B B 440
A07-066 L=147m [ I | 36

11

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-067 A=42ha [ I B A B | 646
A07-068 A=10.93ha [ I B B BN 418
A07-069 A=2.59%ha u 15
A07-070 A=0.9ha u 10
A07-071 L=60m u 43
A07-072 25kw [ I 48

12

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-073 [ I B A B | 28
A07-074 L=300m [ I 60
A07-075 A=34ha [ I 1,040
A07-076 A=7.1lha [ I B A B | 326
A07-077 u 60
A07-078 [ I 280

13

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-079 LI B 116
A07-080 ] 250
A07-081 L=1,524m L I B B BN 384
A07-082 A=91.1ha L I B B BN 476
A07-083 L=471m "= 184
A07-084 A=10.5ha "= 222

14

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-085 LI B 20
A07-086 L=442m "= 140
A07-087 A=12.0ha "= 660
A07-088 "= 42
A07-089 A=1,302m2 ] 6
A07-090 A=7.51ha u 16

15

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-091 L=1,091m "= 201
A07-092 A=11.5ha "= 191
A07-093 L=370m "= 158
A07-094 A=20ha "= 374
A07-095 1,800m3/ u 20
A07-096 "= 50

16

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-097 "= 25
A07-098 A=23.0ha "= 427
A07-099 A=20ha "= 374
A07-100 ] 6
A07-101 "= 49
A07-102 "= 28

17

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-103 "= 50

A07-104 "= 70

A07-105 "= 60

A07-106 ] 40

A07-107 N=91 ] 4

A07-108 L=200m ] 30
N=50

18

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-109 ] 48

A07-110 ] 56

A07-111 ] 24

A07-112 L=300m ] 120
10.0ha

A07-113 ] 903

A07-114 A=34ha ] 723

19

0000152789




H28 |H29 [H30 [H31 [Ro2

A07-118 A=5.9ha [ ] 14
[T T 11 s
T T T 1 s ]

20

0000152789




H28 |H29 [H30 [H31 [Ro2

C07-001 N=100 ] 4
C07-002 N=200 "= 20
C07-003 N=200 "= 20
C07-004 N=400 "= 4
C07-005 N=40 " | = 4
C07-006 N=100 "= 8

0000152789




H28 |H29 [H30 [H31 [Ro2

C07-008 N=50 | I ] 2
C07-009 N=50 | I ] 2
C07-010 N=300 ] 3
[T 1] A
[T 1] A

0000152789




H28 H29 H30
@) 6,601 5,690 561

) 8 0 0

(c=a+b) 6,593 5,690 561
(D 0 1,043 880

e) 5,550 5,853 1,281

@ 1,043 880 160

@ 302 284 33

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 4.58 4.21 2.29

10

0000152789



